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Note :

(i) All the four questions are compulsory.

(ii) All questions corry equcl weightage.

1. Answer any four of the following in about 150 words

each :

(i) How do communication and transport Iacilities affect

the life of people ? Discuss brieflY.

(ii) How do caste and religion work as a barrier in social

change ? Discuss briefly.
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(iii)

(tv,

What has been the role of Gandhian movement in the
freedom struggle ol India ?

How has industrialisation af.ferted, the social life of
people in lndia ? Explain wiJh examples.

(v) How are the principles of United Nations promoting
interaction between different countries ? Illustrate with
examples.

(vi) How are weapons of mass. destruction posing a

. problem to world rreace ? Explain with examples.

I

2. Attempt any four questions :

(i) Multiply 4x2 - 5y + 6

(ii) Factorise :

x 2 + l 4 x + 2 4
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(iv)

(v)

b y  2 x - 3 .

Solve the following equation and verify the solution ,

8 x - 5 5 = 3 x - 4 0

Of the three angles of a triangle, one is twice the
smallest and another is six times the srnallest. Find all
the angles of a triangle.

After 20 years, 'A' will be five times as old as he is
now. What is his present age ?



(vi) BEC is an equilateral triangle in a square ABCD. Find
the value of lx in the fiqure.

A

Answer any tour
each :

of the following in about 150 words

(i) What are diflerent types of forces ? How is frictional

. Jorce harmful and useful ? Illustrate with examples.

(ii) How can you define work ? What work is done in

holding 5 kg packet while standing at a place

for 5 minutes ?

(iii) Why is a hand-span not a good standard of

measurement of length ? What are the base units of

the following :

(a) Length

(b) Mass

t

3.

I
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(c) Time

(d) Temperature

(e) Electric current

What is the dilference behleen a mixture and a

compound ? Why is air a mixture and water a

compound ? Explain.

.Name different methods o{ separating components of

a mixture. Explain the process of separating ;

(a) Sand and water

(b) Oil and water

(c) Sand and sugar

What is the utility of machines ? What kind of lever is

(a) see-saw

(b) inclined plane

4. Answer any four of the following in about 150 words

each :

(i) Describe different lunctions of soil. What are

dilferent types ol soil ?

(ii) What is irrigation ? What are the different methods of

irrigation ?
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(iii) Why is there a need of protection of crops ? How can

you protect the crops ?

How do day and night occur on earth ? Draw a
diagram.

What is lunar eclipse ? How does it occur ? Illustrate
with a diagram.

What is ecosystem ? Give diflerent components of
ecosystem. Illustrate with suitable diagram.
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a}a;

(,) g"f ani' qw atffi d r

(i,) €'s# yr47.. 67 qtRdr vqa d t

r. ffiko t + *$ arr Irfi qt I nds qs'T drrsrrr
rso qrd ti d :
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(iii)

(iv)

(v)

z. +€

(')

(ii)

qKf, + Ed?-dr {Trq t qirffi sil+d-{ iil w{r
frq-qr ror N 7
B-<r6{uii qFe qrcTr qt f+ gt}d'ft+"tq * qrm
* fr'il qr qrqrfus dqq *t sErkd geTr t r

3-ffi{q tfi sq-flrq is qi{rn c|p * fs-did fs€
s-6n ffir* EvTr t qrs Biilfiq *i Wr-eT <d
* ,
Q I

s<rflq efi qwq fr qdqfis frilT + Efqqn
f*s rsn frys vrifr * fdq ssn t I

ar{ ]|{r s{ I

4 x 2 - s y + 6  d  z x - 3  S t l t i l a t r

Wr+€'o-s qt -

x 2 + l 4 x + 2 4

frqfrfud qql-*-{trr iit
seilc{ st :

f,d 4't f,qI gf,{ 6r.

8 x - 5 5 = 3 x - 4 0

(iv) ffi fiUq * d-it q}'ril i t fr+ *"r qES
e}) +tT t ggar toeT(mr s-d$ dll *T+
? r qq FTq + Rqi shr 6r qFr qrqq qt r

(v) zo q{ cr-sr( 'A'61 qTg sR-+1 qdqm urg t
cfs Tfr ti qq'fr I qdqq 'A'..* qfqTr eilg
q r €  r

ES-21 3  I



(vi) . BEc qd €Tflg h,Eq d d s,f ABCD * ili({

<vi$ ..r$ t r fo* fr qiTq x ET {lr qrEc st t

3- FrqFeka q i +i 
"r 

rFI qi I eds sfr{ drllTrl
rso rrqi it t] '

(i) q-di + fqFrq q-n-r et{R t ? r<retur tfi qc
qt f6 qf'r q-o oqt sT-fi C Erfiffirf6 qelr

mqc-( *fr-*i d r
(ii) sTrc 6rd q1 *0 qRqTFd stt Z cfs f*tr{rq

6r q+, i+c rar+'q ffi rlTH q{ cfq E-{c €3
rti t mqi'rqr :n4 trtr{ ftfl ?

(ii,) qrfrrd 6l ffi dqri 6i r.rci + frq qq €r@r
qq-+ +ii +fr qq-qr qldr t ? FTqftEf, 41
3rqr'1-d rqrrqf ssT t I

tql eqr$
(u) €6fd
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(rl) qqq

(s) nrqqr4
(s) fr'g( tTl-tl

g+ frsor (nn q{ qlFr6 fr sr eiet t z u'g
fr r'q frqq dsr w d q6 dFffi edi {qar
q r o r t ? s c q t l

fo$ fraq t qcsii q] si-flr-erm'r +-d * Anm
ffi+ + qrq'Rrd I FrqFfl&( +) eretr-effi'I
q.{i qfi sfuqr sc 4t :
(6) td deIT qqT

(s) to dqT qct

(TI) Td OST SHI

1vi1 ffidi qfi qr sq+Frdr Et-fr t ? FrqRfud
f+-s-E€ r+n * Fdt-irs (d-E{) t ?
(n) Tfr-d
(€) id srrdEr

q- FrqfuRqd d i ffi arryeit sr erfi t t s-&s sd{
ernn 150 qrd fr d :

(i) 5< * feFr* x*rfr qr suir st
q-{R 6}{S B ?

r g* * frFr*

(ii) frrqr$ + qr BrFTqrc * I nrqr$ s1 frF{q frFrqf
\ ^ \ , -sr{sr E /

E S - 2 1 3 1 0



(vi)

sstit t lq{alur m elErsg(f qdt T.sfr e ?
q'$f,t sI gtqIUI 3ilC 6g firT /

wffi v+r+r ws si tq Ud c{ F{a qh {rd
* S q q l t r

dn-cEor wr *cr d i snsfd m vorwr t
sc 6t ffi zro *'$ dnr B r

srRfficq-dr wr * z qrRfrqfrq-ii{ * Anr*
s--*1 6] wgm eTr5fd fi qerqdr t qrgeq r
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